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def bubble_sort_v1(arr):
n = len(arr)
foriin range(n):
forjinrange(n - 1):
if arr[j] > arr[j + 1]:

arr[j], arr[j + 1] = arr[j + 1], arr[j]

def bubble_sort_v2(arr):
n = len(arr)
foriin range(n):
swapped = False
forjinrange(n-i-1):
if arr[j] > arr[j + 1]:
arr(jl, arr[j + 1] = arr[j + 1], arr[j]
swapped = True
if not swapped:
break
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char toHexDigit(int num) {
1f (num < 10) return '0" + num;
else return 'A' + (num - 10);
}
void printHexFromBinary(int num) {
int leading zero found = O;
unsigned i1nt mask = OxFO000000;
int shift amount = (sizeof(int) * &) - 4;
printf("0x");
for (int 1 = 0; 1 < sizeof(int) * & / 4; 1++) {
int hex digit = (num & mask) >> shift amount;
1f (hex digit !'= 0 || leading zero found){
leading zero found = 1;
printf("%c", toHexDigit(hex digit));}
mask >>= 4;
shift_amount -= 4;
}
1f (!leading zero found) printf("0");
printf("\n");




